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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the
average went up by 2 yr. Find the actual average
age of the class.
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Part-1 P-II-MABCS-JCJA-18
MATHEMATICS
SECTION-A : 80 Marks

Instructions : Each question under this section carries two marks. Please read each guestion

carefully and answer them by selecting the right one out of the multiple answers given below each as
A, B, CandD.

1. A mixture of 40 litres of milk and water contains 10% water. How much. water should

be added to it so that water will be 20% in the new mixture ?

40 ReQ /18 8 AIFQ Agdsa QIfa AGaIE aeeel 10 | @ figeca 6266 QI8 faIRs §oR
F566Q AT ATNS F999| 20 689 ? vsf(f y

A)25L Techofworld.In B) 35L

C)4L
2. Abook seller gets 10% profit after giving 10% d1scount on the marked price of a book
If the marked price is Rs. 77, then find out the cost price of the book ?

68 QT 6QRNRT §6E REQ ﬁﬂ%j@ (MY QAEQ 10% QLI 691 A6Q F11l 10% AR K98 | 9T 98
@dEQ QIF] 77 9@ 6RsIFIRRN QIRIER6R QETQ QA (i 6962 ?

A) Rs. 70 B) Rs. 77
C) Rs. 63 { . D) Rs. 60

3. If(Ja + +b)=17and (Ja - ¥&) = 1, then find ab |
Q9 (Va + b)) =17499° (o — Jb) = 16669 Vab Q RN 6REE 62R ?
A)17 B) 18
CR D) None of the above

4. In a school, the ratio of boys and girls is 4 : 5. When 100 girls leave the school, the
ratio becomes 6 : 7. How many boys are there in the school ? *

| 691G FIRAGA QIRG B QIFAITA AU 4 1 5 | 6T6HEIER 100 QDG 695 FQUeD 96
QIRQAIRIT 6068 QIR B QIRAIFA AFAIP 6 : 7 94 | 6069 FUIRLA NS Ay 666 ?

200 | B) 1300 ~° Y m S

C) 1400 ' D) 1500 — T Y
o e
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The price of wheat is decreased by 25% and its consumption increases by 25%. Find
the new ratio of the expenditure with that of the initial expenditure.

GRR RN SERGI 25 GFGER NLIQ QISLR S0SGI 25 CRAN | 6661 §eR §F B ga6A
62URYQ YR AGAIF 6260 699 ?

A)3:4 B)5:4 C)16:25 D)15:16
Three bells chime at intervals of 48, 60 and 90 minutes respectively..If all the three
bells chime together at 10.00am at what time will all the three chime again that day ?

D6QIT A4l A2AFEA 48, 60 99° 90 dae 2806 QI6e, 95 9g 94 gEe Y@ A9 ARIQ
10.00 am 63 QIF8, 6069 AR 679 AFIAER 67 F6AIT A IR AAAER AIFER ?

A)L00pm B)2.00pm C) 8.00 pm . D) 10.00 pm
Find the value of LI 1 ____A L .
BB -7 V76 N6-5 52
1 1 1 1 1

N R e i e

Techofworld.In
A)1l B)1/3 5 D) None of the above

The difference between the cost price and the selling price of an article is Rs. 240. If
the profit is 20%, the selling price is ?

661G QQIda FEIQIF ¥G° TFRIN Q IR 240 OF | 9T QIR FFRR 20 AN 29 | 6969 6QF
AR @GE]MY 6X6C ?

A) Rs. 1440 | B) Rs. 1400

C) Rs. 1240 D) Rs. 1200

The average age of 4 members of a family is 25 years. If the head of the family is
included in this group, then the average age increases by 20%. Find out the age of the
head of the family. ‘

651G €0QI0Q SIASEFA AR 20A 25 9F | A7 vrIes 986 adsIaq qstig deian,
6064 6QFIRGA YRR 2AA 46991 20 98 AIN | 6662 AFRRR YT 90D 6966 ?

A) 45 years : B) 50 years
- C) 55 years D) 60 years
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~r

] 1
10. A man invests - of his capital at 7% p.a, %at 8% p.a, and the balance at 10% p-a. If

- his annual income is Rs. 561, the capital is ?

- 9661 6AIR IR ATRIA Qe % 2°8 QR 96031 7 21064, % 2°8 QITR 9090! 8 2IQ YM6a

CIREM NQ° 2QdR 2°g 9e9el QI8 10 2R QR HEIRLR | 96 SITa 6ARGNG 561 GG
94, 6069 PIFQ AN QB 666 ?

A) Rs. 5400 B) Rs. 6000
C) Rs. 6600 B D) Rs. 7200

11. A, Band C can do a work in 20,25 and 30 days, respectively. They undertook to finish
the work together for Rs. 2220, then the share of A exceeds that of B by ?
ABY@° C 63IGN QIAg Q2196 2081, 2509 96° 303060 698 @AAIA | 6A9I6R 618 QAQ
@l IETEQ 2220 SRS 699 QREQIG 98 AGLER | 666@ AQ 2°EIR BQ 2°6R 0l 6060

2Q ? Techofworld.In
A) Rs. 120 B) Rs. 180 C) Rs. 300 D) Rs. 600

12. The length of a rectangle is increased by 60%, by what percentage would the width
has to be decreased to maintain the same area ? _

691 2INGEIRD 636IQ 90991 60 QQIR, GITIR 999 J0RC! 6R60 AFIRGR, 2INeEagda
RS ATNQ Q&89 ?

A)371% B) 60% C) 663 % D) None of the above

13. A sum of money placed at compound interest becomes double in 5 years. In how
many years, it would amount to 8 times of itself at the same rate of interest ?
Q4@ 0998 QuI6a 6@IEIT (PR 5 QU6R 2 G4 29, 606Q 6060 QLR 63T T AAIQ QPITINER
8 g6 624 ? - '
A) 7 years B) 10 years C) 15 years . D) 20 years

14. The average of 50 numbers is 38. If the two numbers 45 and 55 are not considered,
what will be the average of the remaining numbers ?

508 QSR AR 38 | AT 62T AW AIRE IR 45 8 559 QIQ QAULAIN, 6662 2QEY AR
LIAUTIA 696G 629 ?

A) 36.5 B) 37 C)37.5 D) 37.52
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A, B and C entered into partnership by making investments in the ratio 3:5: 7. After
a year, C invested another Rs 3,37,600 while A withdrew Rs. 45,600. The ratio of
investments then changed to 24 : 59 : 167. How much did A invest initially ?

A,B G C 509¢ 2°810IQ ALER 6TIT QIQQIRER 3 : 5 : 7 AFAIS6R Y& G694 @6M | 66T
od 961 ‘C’ 698 QUAAINER 3,37,600 6G1 e IF F628 FRIQ ‘A’ GIR 2°ERIR 45,600 O
QT 6AR | G A6R GIFQ F°SUNA AGAIG FORFAIR 24 : 59 1 167 62 | GI" 626M YA “A”
6968 9BR6RE KGR ?

A) Rs. 45,600 B) Rs. 96,000

C) Rs. 1,41,600 D) None of these

If the rate of interest be 4% per anifuum: for first year, 5% per annum for second year
and 6% per annum for third year, then the compound interest of Rs. 10000 for 3 years

will be ?
- 98 gae oda QUERIA F0R%! 4, §610 Qa QRIALIA HEFS 5 NS° GE1R AER QIO §660)

6 99, 6669 10,000 6FIQ 3 R 6FE QI 669G 621 ?
Ay rs. 157520 1 echofworld. |8 rs. 1600

C) Rs. 1625.80 D) Rs. 2000

The monthly salary of A, B and C is in the proportion of 2 : 3 : 5. If C’s monthly salary
is Rs. 1200 more than A’s monthly salary, B's annual salary is ? '

ﬁ/v A, B3 CQ 80 2anIQ 2gaIe 2 : 3 : 5 1 98 'C'a AIde @l ‘A’ AIIe @agIOIQ 1200 66
m & ] >
2@ 9, 6669 B'a QIfie 2anl 6960 ? _ | RS % »
A) Rs. 14400 B) Rs. 24000 ad = iz; '
' ' I = I
C) Rs. 1200 D) Rs. 2000 ‘
18. ‘A’ began a business with Rs. 21000 and ‘B’ jo'ined afterwards with Rs. 36000, if the
profits at the end of the year are divided equally, then find out after how many
| months ‘B’ joined with “A"? ‘ '
{ ‘A’ 21000 9@IEQ 6ElIGN QUL IR @RI IG° ‘B’ 360009@ 69Q QI ATQ 6219 6l |
Q65960 ARG AT AR AIRER QIE LAY 6661 B’ 660 (I T6Q ‘A’ AFG. 6419 69
v _
so  Awll
' : . ()M
0,0 | 1ot WD B
?/\@’ A) 3 months B) 5 months W o0
0 . o« B o0
\ CY 7 months D) None 86 ;]\éfé\p/ 9
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[

If /33 = 5.643, then the value of J% is?
Q@ /33 =5.643, 606@ \/13_-1 Q Y 6R63 ?
A)0.513 o B) 0.315
C)1.35 D) None of the above
Five times of a positive integer is équal to 3 less than twice the square of that number.
Find the number ?
- : s - e
6QICN URIAR YR 5G4 QILIR REQ YRS O 3 @, 6G6Q A°GIG' 6@EC 7 ER == 3
3 é}) £H -
23 T 333 B> ant ARSL
Bs By . & D) Bt
If (a+b):(a-b)=5:3, then find (a2 + b?) : (a>-b?)
Q& (@a+b):(a—b)=5:3,606% (a2+b?): (a2 —b?) 686G ?
A)17:15 C B)25:9 . CQ)4:1_. D)16:1
How many numbers between 200 and 600 are divisible by 4, 5 and 6 ?
200 49° 600 C12IEQ EREBIT QI 4, 599° 6 FIQI TQIR 269 ?
A)5 B) 6 . D)8
The maximum length of a pencii that can be kept in a rectangular box of dimensions
of§emx6cmx2cmis? Techofworld I N
8 cm x 6 cm x 2cm @E@ ZIYCARIRIN 9F G06a 28 63416Q 6960 R 6IRAM
| QYIAIRAIGG ? | ~
- A)2413 cm B) 24/14 cm C)24v26ecm D) 1042 em
A and B started a joint business. A’s investment was thrice the investment of B and
the period of his investment was twice the period of investment of B. If B got Rs. 6000
as profit, then what will be the 20% of total profit ?
AGB B NQIAIGIEQ 66lITN Q4G QA QEM | A’ 660 O SICIR Ml QIR B’ o@iel 3 g8l gl
S 6066 AFIG AR YSIRYRI GIT B'R HSIRYRI Q7L AR GRS AR | 99 ‘B’ 62
MY 6000 S| MW D, G@_ES'G‘ Al N FCREG| 20 6R6G 69 ?
A) Rs. 5000 B) Rs. 8400

C)Rs.3500 D) Rs. 4500
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By selling a table for Rs. 350 instead of Rs. 400, loss percent increases by 5%. The cost
price of the table is ?

651N 669RQ 400 SFIER IRAI AGiGea 350 CRIER GQQIQ I6aE 5 HG AWM | 606
659NA D¢l MY 6QES ?

A) Rs. 435 | B) Rs. 417.50

C) Rs. 1000 D) Rs. 1050

When 50% of one number is added to a second number, the second number reduces

~ to its four-thirds. What is the ratio between the first number and second number ?

6KEG6QR 631G AFQR §16QE1 50 §O16 AeQ ATE 6716l 99,5014 FFe % 21°81R7] 6RIRAIN,

606Q@ gar @ga 9e° 1A R FRIEH QI 6R6Q ?

K907 " B)3:4
CrZca TeChOfworldln D) Data inadequate

What is the smallest number by which 3600 must be divided to make it a perfect
cube? C '

6@ PO I FIA 36009 QUG FER GILI 661G ‘E]ﬁiﬂ@fil"%ﬂi 6RIRANAQ ?

A9 B) 50
C) 300 _ . D)450

2 2.3
Ifp:q=3:4andyr 7S, M p:q:r= ? e A
A@p:q=3:4496°q:r=8:999,606@p:q:r6@6e? %
A)8:6:9 B)9:8:6
C)6:8:9 D)3:32:8

On a certain sum, the simple interest at the end of 121 years becomes % of the sum.
What is the rate of interest per annum ?

0Q 6aleq RIAR Q0N 124 Qd 66960 AU % 24, 6069 @m Qidq QILIQ 696G
624 ? | '

A) 4% B) 5%
C) 6% . D)8%



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

30.

31.

32.

33.

34.

Download Tech Of World App ~ WtsApp/Call- 8596976190

What is the smallest positive integer which when multiplied by 392, gives a pérfect
square ?

609 G9OF ARIFR gS TaIq 392 TN GF6R G121 IR 9 9di6a ARG 629 7

A)5 ‘ B)4

£ye D)6

The marked price of a TV is Rs..16000. After two succéssive discounts it is sold for Rs.
11400. If the first discount is 5%, then rate of second discount is ?

666N T.V.Q AYS FJal 16000 61 | 9R& @ GaiS asa T.V.5 11400 G@IE oQ caml | 9@
T.V.Q 929 Q26 999! 5 94, 6569 §016 0Rl5a QIR 6@66 ?

A) 15% B) 20%

o 1echofworld.In p)us

In an election between two candidates, the candidate who gets 30% of the total votes
polled is defeated by 16000 votes. What is the total number of votes polled ?

e 310960 90 94 QIgl 26R | 698 Qleh G2l AIRYYSI AQIA 69IT Q F6@F! 30 AIG AIRRER,

62 16000 6QIGEQ AAGER | 6361 AFFIA 6F6E SRR 6T 6ARUEM ? 16 "af
1600 ©

A)24000 B) 28000 : Tt pgoee =

C) 30000 D) 40000 . -

A car travels a certain distance from town A to B at the speed of 42 km/h and from
town B to A at a speed of 48 km/h. What is the average speed of the car ?

6aIEd G0 924 A OIQ 426 B §a0Ig a€Ig 42 km 69669 2596 @60 Ie° 429 B 0§ 424
A9 900/ AIg 48 km 696169 2T Q6Q | 666@ QIAQ T GY AAIAQ 696 676T ?

A) 45 km/h B) 46 km/h
C)44.8 km/h D) None of the above

‘A’ sold a watch to ‘B’ at 40% gain and ‘B’ sold it to ‘C’ at loss of 20%. If ‘C" bought the
watch for Rs. 432 at what price did ‘A’ purchase it ?

‘A’ 666N 98] 96@G! 40 AINER ‘B'g 9F @RI 9§ ‘B’ 6QF Adq 69l 20 86sa ‘C'Y
FaenIl 98 ‘C’ 6Q@ A0q 432 ORISR QAR 6669 6@6C TFIEA ‘A’ 6QL UG QeI ? '

N

A) Rs. 385.71 B) Rs. 216 Beg o IYouL . py  [HoX
_ ' 5 ik
C) Rs. 250 D) Rs. 550
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The LCM of tWo numbers is 48. The numbers are in the ratio of 2 : 3. Find the sum of
the numbers ? .

GG °HIQ M:Ql:G 48 | 6QF A°GHI QAT 2AgaIe 2 : 3 | QeI QRCQ 6LIGITR 626G ?

A) 28 | | B) 32 ' :ng/“‘fj qrwg’w
G40 D) 64 *::?,- |

Find the last two digits of 15x37x63x51x97x17
15x37x63x51x97x17Q 688 Q@& 2 @4l ?

A)3.5
Cl 3,5

B) 4, 5

TechoﬂNoHdJn D)8,

A sum of money is to be divided among A, B and C in the ratio 2 : 3 : 7. If the total
share of A and B together is Rs. 1500 less than C, what is A’s share in it ?

616d aua AB B C ISR 2 ¢ 3 1 7 21gAIe6a QIS fQIKQIQ Rl 9@ ‘A’ G ‘B'Q 4914
21°61 ‘C’Q AFQIN 21°F0IQ 1500 OF| @F| 621NN 666Q ‘A’Q 2°HRIR 6960 ?

A) Rs. 1000 ‘ ~ B)Rs. 1500
C) Rs. 2000 : D) None of the above
Rama purchased a mobile at —%th of its selling price and sold it at 10% more than its

cost pfice. Find the gain percent ?
QIF 69T EFIRIRRG GIQ ARV % 6QR Q&A1 N9° Qdll FJRIQ S0RG1 10 IR §F el |

606Q CI'Q I0R3] 6563 RIW 6LMI 7

A)15% : B) 5%

)%, 9N D) 10%

The difference of simple interest from two banks for Rs. 1000 in 2 years is Rs. 20. Find

the dlfference in rate of interest.
1000 @& QQG‘ AT q&@@@ ?JIBIG?‘J 2 Q‘SGQ 20 G‘Q{I 6L6Mm ELFINEQ lej IR g|g]g,\q 660

6eQ? .
A)2% B) 1.5% C) 1% D) 2.5%

The sum of money that will give Re. 1 as simple interest per day at the rate of 5% per

. annum, is-?
606 R QIfQ §04@! 5 219 QERQHER B9Q QM 166 629 2
" A)Rs.730 B) Rs. 3650 C)Rs. 7300 D) None of the above
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MATHEMATICS
SECTION-B : 20 Marks

Instructions : Each question under this section carries one mark. Please read each question carefully
and answer them by selecting the right one out of the multiple answers given below each as A, B, C

and D,
41. IfA:B=3:4,B:C=5:6andC:D=11 -9, then what is the value of A : D ?
A@A:B=3:4B:C=5:69e°C:D=11:999,6669 A : D 6a6G ?
ZUE*'LI
A) 50 : 60 B) 55: 72 C)60:70 D) 65 :75 & 79
12z
42. The ratio of two numbers is 5 : 6. If their HCF is 4, then what will be their LCM ? 4.9
GG AWM QUG 5 : 6 | 9@ 6ANRFR 691G, 4 99, 6561 6AAIFTR M.ALG. 6DEC ? z@,_
A)90 - B) 96 Q) 120 D) 150 37 ”
' 3 0/
/

43.

44,

45,

46.

47.

If p?— ¢® = (p — q) {(p — q)>xpql, then the value of x is ?

QG p3—g® = (p-q) {(p - )>xpq) B9, 666% X Q FRY 6866 7 |
. ) 12~
B) 3 C)-3 D) -1 =

A)1
Find the value of /152 +11x32 ? :
Techofworld.In A5 7#%5 - ;530
JI5% +11x32 Q €JaM 6966 ? 25
2
A) 18.25 B) 19 Cy18 . D)195 7

The sum of the square of two numbers is 100 and the square of their difference is 28.
The product of the two numbers is ?

GRG Qaia @dia Ad 100 99" 6AFINEE QUa 28 28 | 69T gRT QWA GITR 6960 7 i
; ' s 1O
A) 42 - B)4d C)46 D) 48 e L

If g of 34 of g of a number is 45, then 30% of the number will be ? |

698 QIR g Q % a g Q IR 45 99, 6569 62T AEHIQ SBRG! 30 6766 649 ?

A) 216 B) 162 C) 612 D) 621

What will be the total Compound Interest for 9 months on Rs. 8000 at the raté of 20%,
if the interest is compounded quarterly ?
8,000 SFI6Q 20% 9FLE PILAEA 9 FIAR 67T OFYF QM 666 629, AT 3 AIAG &A6Q G

AR QAU ?
A)Rs.1250 B)Rs.1,258 C) Rs.1,261 D) Rs.1,270
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48. The average age of three boys is 15 years. If the ratio of their ageis3:5:7. Whatis the
age of the oldest boy ?

5304 QIRETQ AR G0 15 9d | 1T caAfREa QAAR 2GAIS 3 : 5 : 7, 666@ AGOIR I
QRN QA 6RES ?

A) 7 years B) 14 years C) 20 years D) 21 years

49. Two successive discount of 20% and 10% are equivalent to a single discount of ?
6AICN GFY QU6Q AT GISIe ALIE 20% B 10% AGSEE 26Q ARG 6T6m 1Tl IO 6R6Q

e Techofworld.In "
A)26% B) 28% C) 29% o D) 30%

50. A sum of Rs. 782 is d1str1buted among P, Q and R in the ratio of = %Z What is the

amount that R will get ?

B

7826613 P, Q 6 R eica :% 2 210660 Q18 F2UGRI, 6964 R 6968 SFIAIAS ?

A) Rs.153 ~ B)Rs.305 C) Rs.453 ~ D)Rs.306

51. A person bought two T.V.s. He sold one T.V. for Rs. 3450 and got 15% profit. He sold
the other T.V. at a loss of 10%. If he has no profit or loss all total then what is the
selling price of the second T.V ?

F68 6RIQ 908 T.V. @8, 69ITQ 3450 OF1 60 3G 9@ 15% QIR F6A G 2RSQ 10% RPeq I
@EM | 9T 60116 AVEA CIFA FE A6 583G 62AQ | 21, 6669 TR T.V. QIQFRY 6R66 2
A) Rs. 3450 B) Rs. 4000 ' - C)Rs. 4500 D) None of these

52. Ramesh got 65% marks in English, out of 70 he got 47 marks in Mathematics and out

- of 45 he got 31 in Science. In which subject he had done well ? )

Q6FI8 ARIRIER 65% AEQ, F8G6R 70Q 47909 B FRIFER 459 31 AR QAR 6 gEa
125313 69R GEA6Q AR Qqeml ?
A) English B) Science C) Mathematics -~ D) None of these

53. 1f 15% of A is equal to 20% of B, then 25% of A is equal to what percent of B.

QG AQ €16891 15,Ba 66901 20 A2 AAIR 99, 60618 AQ 90@@! 25,BQ 49991 6960 Q2 Q7R
528 ? ‘

A)30% B) 33%% . 0)35% D) 25%
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If simple interest at the rate of 4% per annum for 2 years on-a sum is Rs. 80, then

compound interest on the same sum for the same period at the same rate will be ?
0% 6616 RURR F09E! 4 2106a 2 990 ARG 805G, 636@ 63T FJRUTA 6AR AN FIRIEA

69@ Q! TI06R OTGE Qo 676T 629 7

A) Rs. 1081.60 B) Rs. 81.60 C) Rs. 160 D) None of the above

Find the sum of first 50 odd numbers. Tachofworld. In

geIel 506 219Q A°HIQ 6QAITTR 6R6ES ? _
A) 6250 B) 2500 C) 2520 D) 2450

In- a division, divisor is 12 times of the quotient and 5 times of the remainder. If
remainder is 48, find the dividend.

6QITY RUTFTAICA NNFR AGTRA 12 & G NACIIRX 5 ge1aa QUSEE 48 9 606Q @l
' acr | Qe
D) 5800 - =

the

@

6R66 7 :
A) 4848 B) 676 C) 250

" The sum of all the perfect squares between 120 and 230 is ?

120 Q 230 F1I6Q 2JQ1 AFG GIacia AFIR 6R6G ?

A) 855 B) 900 . C)850 . D) None of these

The sum of two numbers is 384 and their HCF is 48. Find out the difference between

two numbers ?
@9@‘ A°HYIQ 6LIBITR 384 9Q° A°GHIFAQ ©1.4I.9). 48 | 6G6Q A°GHIFK: FlRIER 2R 6R6ER ?

A) 100 B) 192 C) 288 D) 336

LCM of three numbers is 720 and their HCEF is 3. If the first number and the second
number are 15 and 36 respectively, then what is the third number ?

F6aId QEUIQ M.QI.G. 720 B 9.ALY. 3 | 9@ QA 6 §S1a QG 15 B 36 QAT, 666Q@ FO14
QG 6060 ? | s

A) 42 B) 45 - G48 D) 54

»

e

If2x=3yand4y=5z,-thenwhatisthevalueofx;z? : .%“_(,?_J 2y =

QG 2x = 3y \IQ° 4y = 5z §, 6669 x : z = 6@6E ?
A)3:4 B)8:15 C)15%8 D)4:3
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